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Note:
I. Question No. 1 is compulsory.
Attempt any three questions out of remaining five ques

Assume suitable data wherever necessary.
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Figures to right indicate full marks.
3.1 Answer the following ( Any four)

. Explain the theological behaviour of I 5
b.  Write short note on Pneumatic conveyor?: 5
5
5
5
10
10
10
10
Vpe AB Im diameter at 3m/sec and then passes through 10
. At C, the pipe branches. The branch CD is 0.8m ; in
one third of the flow in AB. The flow velocity in branch CE
he volume rate of the flow in AB. ii) The velocity in BC., 1i1)
. iv) Diameter of CE. AN T
ession for coefficient of discharge for orifice meter - 10 (S
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Q.6

What is screen effectiveness? Derive the expression for same
Calculate the operating speed of the ball nill from the follgwin
ey

diameter of ball mill = 500mm, diameter of ball =4

50% of the critical speed of the mill.

Write short notes on cavitation and priming?

Write a note on any Four
Inclined tube manometer
Rotameter

Fluid energy mill.
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